

THE COUNTY OF DUPAGE FINANCE - PROCUREMENT SANITARY, GREASE TRAP AND STORM BASIN PUMPING, JETTING AND CLEANING 21-017-FM

						\checkmark		
					A&P GREA	SE TRAPPERS	ANCHOR ME	ECHANICAL INC
			SECTION 1 PUMPS		•		,	
PUMP #	LOCATION	DESCRIPTION	FREQUENCY	QTY	PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE
1	421 N. County Farm Rd (Front of Bldg. along County Farm Rd.)	2 basins cleaned & jetted. Jetting approx. 200 ft.	One (1) time per year OR as needed	1	\$ 550.00	\$ 550.00	\$ 305.00	\$ 305.00
2	421 N. County Farm Rd (North Dock)	Storm basin & trough drains pumped cleaned & jetted. Storm basin size 4' X 10'	Four (4) times per year	4	\$ 400.00	\$ 1,600.00	\$ 330.00	\$ 1,320.00
3	421 N. County Farm Rd (1st floor by utility elevator)	Grease trap 55 gal. 21" X 30" X 33-1/2" cleaned and pumped (must be done early in the am)	Every six (6) weeks	9	\$ 125.00	\$ 1,125.00	\$ 330.00	\$ 2,970.00
4	421 N. County Farm Rd (North Mechanical Room)	Storm pit 5' X9'	One (1) time per year OR as needed.	1	\$ 125.00	\$ 125.00	\$ 305.00	\$ 305.00
5	421 N. County Farm Rd (North Mechanical Room)	Sewage pit 3' X 10'	One (1) time per year OR as needed.	1	\$ 125.00	\$ 125.00	\$ 305.00	\$ 305.00
6	421 N. County Farm Rd (Tunnel-4 Various locations)	Storm water basin 3' X 4' pumped	One (1) time per year OR as needed.	1	\$ 125.00	\$ 125.00	\$ 305.00	\$ 305.00
7	479 N. County Farm Rd. (Lower level parking garage)	Triple basin 4' X 8' X 12" deep pumped & cleaned	Two (2) times per year	2	\$ 450.00	\$ 900.00	\$ 330.00	\$ 660.00
8	509 N. County Farm Rd. (East side of bldg. outside parking garage)	Triple basin 3-4' X 8' X 12" deep pumped and cleaned	Two (2) times per year	2	\$ 450.00	\$ 900.00	\$ 330.00	\$ 660.00
9	501 N. County Farm Rd. (North side of Jail bldg. A- side) .	Sewage ejector pit 5' X 18' pumped & cleaned	Every six (6) weeks	9	\$ 450.00	\$ 4,050.00	\$ 330.00	\$ 2,970.00
10	501 N. County Farm Rd. (Jail B-side in basement)	Sewage ejector pit 5'5" X 8' pumped & cleaned	Every six (6) weeks	9	\$ 550.00	\$ 4,950.00	\$ 330.00	\$ 2,970.00
11	501 N. County Farm Rd. (Jail B in basement)	Storm pit 4' X 8' pumped	One (1) time per year OR as needed.	1	\$ 125.00	\$ 125.00	\$ 305.00	\$ 305.00
12	501 N. County Farm Rd. (Jail A-side in basement by fire pumps)	Lift station 5' x 13' pumped and cleaned	One (1) time per year.	1	\$ 325.00	\$ 325.00	\$ 330.00	\$ 330.00
13	501 N. County Farm Rd. (Jail 8-side Kitchen)	Grease trap 20 gal. 40" X 22" X 18" cleaned and pumped (must be done early in the am)	Every six (6) weeks	9	\$ 100.00	\$ 900.00	\$ 330.00	\$ 2,970.00
14	505 N. County Farm Rd. (Fence area)	Sewage lift station basin size 6' X 15' pumped	Every six (6) weeks	9	\$ 365.00	\$ 3,285.00	\$ 330.00	\$ 2,970.00
15	505 N. County Farm Rd. (West side of bldg. next to fence)	Three (3) sewage basins 4' X 8' jetted and cleaned between manholes and into lift station 6" pipe X 400'	Every six (6) weeks	9	\$ 975.00	\$ 8,775.00	\$ 330.00	\$ 2,970.00
16	505 N. County Farm Rd. (Kitchen)	Grease trap approximately 75 gal. 3' X 2' X 5' 16 pumped. Must be done early in am	Every six (6) weeks.	9	\$ 185.00	\$ 1,665.00	\$ 330.00	\$ 2,970.00
17	505 N. County Farm Rd. (Inside- North Mechanical Room)	Lift station 5'x10' basin pumped and cleaned.	One (1) time per year.	1	\$ 225.00	\$ 225.00	\$ 330.00	\$ 330.00
18	503 N. County Farm Rd. (West Side)	Storm Water basin 4'x10' pumped and cleaned	One (1) time per year OR as needed	1	\$ 225.00	\$ 225.00	\$ 305.00	\$ 305.00
19	503 N. County Farm Rd. (West Side)	Sewage pit 6'x10' pumped and cleaned	One (1) time per year OR as needed	1	\$ 225.00	\$ 225.00	\$ 305.00	\$ 305.00
20	424 N. County Farm Rd. (Main Line East Side)	Main line 100' jetted	One (1) time per year	1	\$ 150.00	\$ 150.00	\$ 330.00	\$ 330.00
21	424 N. County Farm Rd. (Main Line West Side)	Two (2) manholes cleaned & jetted.	Four (4) times per year	4	\$ 450.00	\$ 1,800.00	\$ 330.00	\$ 1,320.00

22	424 N. County Farm Rd. (Inside)	Five (5) storm basins pumped	One (1) time per year OR as needed.	1	\$	625.00	\$ 625.00	\$ 305.00	\$ 3	05.00
23	420 N County Farm Rd. (Inside kitchen)	Grease Trap 35 gal. 33" X 25" X 25"	Two (2) times per year	2	\$	85.00	\$ 170.00	\$ 330.00	\$ 6	60.00
24	414 N. County Farm Rd. (Surgical Suite)	Jetted 50' line to basin	Every 6 weeks	9	\$	75.00	\$ 675.00	\$ 330.00	\$ 2,9	70.00
25	414 N. County Farm Rd. (Sally Port)	Washing machines three (3) triple basins pumped & cleaned	Four (4) times per year	4	\$	125.00	\$ 500.00	\$ 330.00	\$ 1,3	20.00
26	410 N. County Farm Rd. (Tunnel Area)	Twelve (12) sump pump pits cleaned	One (1) time per year OR as needed	1	\$	1,500.00	\$ 1,500.00	\$ 305.00	\$ 3	05.00
27	410 N. County Farm Rd. (Lower Level)	Three (3) sump pump pits cleaned	One (1) time per year OR as needed	1	\$	375.00	\$ 375.00	\$ 305.00	\$ 3	05.00
28	400 N. County Farm Rd. (Outside on west side of bldg.)	Grease trap basin 5' X 11' pumped out and cleaned	Every 6 weeks	9	\$	180.00	\$ 1,620.00	\$ 330.00	\$ 2,9	70.00
29	400 N. County Farm Rd. (Outside on west side of bldg.)	Garbage Compactor drained, cleaned & jetted. Approximately 30'	Four (4) times per year	4	\$	325.00	\$ 1,300.00	\$ 330.00	\$ 1,3	20.00
30	400 N. County Farm Rd. (West side of bldg.)	Three (3) manholes cleaned & jetted	Every 6 weeks	9	\$	525.00	\$ 4,725.00	\$ 330.00	\$ 2,9	70.00
31	400 N. County Farm Rd. (East side of bldg. in gated area)	Six (6) manholes clean & jetted. 850' of pipe	Four (4) times per year	4	\$	2,025.00	\$ 8,100.00	\$ 330.00	\$ 1,3	20.00
32	400 N. County Farm Rd. (South Mechanical Room. Ground Floor)	Sewage pit pumped & cleaned 5' X 1 O' Basin	Every 6 weeks	9	\$	325.00	\$ 2,925.00	\$ 330.00	\$ 2,9	70.00
33	400 N. County Farm Rd. (Inside - South East Mechanical Room)	Lift station sewage pit 5'x1 O' pumped & cleaned	One (1) time per year	1	\$	275.00	\$ 275.00	\$ 330.00	\$ 3	30.00
34	400 N. County Farm Rd. (Inside - North East	Lift station sewage pit 5'x8' pumped & cleaned	One (1) time per year OR as needed.	1	\$	275.00	\$ 275.00	\$ 305.00	\$ 3	05.00
35	400 N. County Farm Rd. (Kitchen- slop sink storage area)	Grease Trap 17 gal. 20" X 30"	Two (2) times per year	2	\$	85.00	\$ 170.00	\$ 330.00	\$ 6	60.00
36	400 N. County Farm Rd. (North East Mechanical Room)	Storm water basin 5'x8' pumped & cleaned	One (1) time per year OR as needed.	1	\$	225.00	\$ 225.00	\$ 305.00	\$ 3	05.00
37	200 N. County Farm Rd. (East side of garage)	Three (3) basins pumped out 17" X 32"	Two (2) times per year	2	\$	375.00	\$ 750.00	\$ 330.00	\$ 6	60.00
38	200 N. County Farm Rd. (West side of garage)	Three (3) basins pumped out 17" X 32"	Four (4) times per year	4	\$	375.00	\$ 1,500.00	\$ 330.00	\$ 1,3	20.00
39	170 N. County Farm Rd. (Off Manchester Rd.)	One (1) medium holding tank pumped out	Every 2 weeks	26	\$	125.00	\$ 3,250.00	\$ 330.00	\$ 8,5	80.00
40	170 N. County Farm Rd. (Off Manchester Rd	Triple basin 24'x4' cleaned, pumped, & jetted.	Three (3) times per year OR as needed	3	\$	375.00	\$ 1,125.00	\$ 330.00	\$ 9	90.00
41	170 N. County Farm Rd. (Off Manchester Rd.)	Trough drain 15' cleaned & jetted	Three (3) times per year OR as needed	3	\$	275.00	\$ 825.00	\$ 330.00	\$ 9	90.00
				то	OTA	L SECTION 1	\$ 63,060.00		\$ 59,4	30.00

			SECTION 2 PUMPS					
PUMP #	LOCATION	DESCRIPTION	FREQUENCY	QTY	PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE
42	120 N. County Farm Rd. (Garage)	Base pumped & cleaned 21" X 24" deep	Every six (6) weeks	9	\$ 225.00	\$ 2,025.00	\$ 310.00	\$ 2,790.00
43	120 N. County Farm Rd. (Inside building)	Kennel troughs five (5) rooms 28' long grates, center has small basin , 6" X 24" deep pumped & jetted	Four (4) times per year	4	\$ 775.00	\$ 3,100.00	\$ 310.00	\$ 1,240.00
44	120 N. County Farm Rd. (Outside)	Two (2) basins cleaned & jetted to main. Approximately 350°	Four (4) times per year.	4	\$ 550.00	\$ 2,200.00	\$ 310.00	\$ 1,240.00
		•	TAL SECTION 2	\$ 7,325.00		\$ 5,270.00		

			SECTION 3 PUMPS					
PUMP#	LOCATION	DESCRIPTION	FREQUENCY	QTY	PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE
45	140 N. County Farm Rd. (Inside)	Trough drains 136' plus center grate cleaned & pumped plus one center basin in the middle of the troughs. (three (3) drains total) three (3) equals 408' of jetting, three (3) center grates & three (3) manhole basins	Two (2) times per year	2	\$ 1,350.00	\$ 2,700.00	\$ 354.00	\$ 708.00
46	140 N. County Farm Rd. (East wall center of building)	Three (3) triple basins cleaned & pumped	Four (4) times per year	4	\$ 775.00	\$ 3,100.00	\$ 354.00	\$ 1,416.00
47	140 N. County Farm Rd. (Inside)	Three (3) manholes cleaned & jetted	Four (4) times per year	4	\$ 525.00	\$ 2,100.00	\$ 354.00	\$ 1,416.00
48	140 N. County Farm Rd. (Inside East Mechanical Room Lift Station)	4'x10' basin pump and cleaned	Two (2) times per year	2	\$ 225.00	\$ 450.00	\$ 354.00	\$ 708.00
49	Fueling Station (Outside)	Holding tank for trough drains pumped (1500 gal)	One (1) time per year OR as needed	1	\$ 350.00	\$ 350.00	\$ 354.00	\$ 354.00
50	180 N. County Farm Rd. (Outside- Far S/W side)	Three (3) basins cleaned & pumped, triple basin cleaned & pumped	Six (6) times per year	6	\$ 800.00	\$ 4,800.00	\$ 354.00	\$ 2,124.00
51	180 N. County Farm Rd. (East side by overhead doors)	Trough drains cleaned & jetted 100'	Six (6) times per year	6	\$ 300.00	\$ 1,800.00	\$ 354.00	\$ 2,124.00
52	180 N. County Farm Rd. (West side by overhead doors)	Trough drains cleaned & jetted (100')	Six (6) times per year	6	\$ 375.00	\$ 2,250.00	\$ 354.00	\$ 2,124.00
TOTAL SECTION 3						\$ 17,550.00		\$ 10,974.00

		SEC	TION 4					
NO.	DESCRIPTION	FREQUENCY	QTY		PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE
1		Twenty-five (25) storm basins cleaned and jetted AS NEEDED	25	\$	125.00	\$ 3,125.00	\$ 125.00	\$ 3,125.00
	TOTAL SECTION 4					\$ 3,125.00		\$ 3,125.00

		SEC	TION 5				
NO.	ITEM	FREQUENCY	QTY	PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE
1	EMERGENCY CALLOUT MONDAY- FRIDAY NORMAL BUSINESS HOURS (6:00AM -4:30PM): INCLUDING VAC/JET TRUCK AND OPERATOR TO INCLUDE JETTING AND COMPLETE PUMPING OF ANY ONE OF THE ABOVE BASINS	50 HOURS	50	\$ 150.00	\$ 7,500.00	\$ 285.00	\$ 14,250.00
2	EMERGENCY CALLOUT EVENINGS & SATURDAYS: INCLUDING VACJIET TRUCK AND OPERATOR TO INCLUDE JETTING AND COMPLETE PUMPING OF ANY ONE OF THE ABOVE BASINS	30 HOURS	30	\$ 175.00	\$ 5,250.00	\$ 285.00	\$ 8,550.00
3	EMERGENCY CALLOUT SUNDAYS & HOLIDAYS: INCLUDING VAC/JET TRUCK AND OPERATOR (SUNDAYS & HOLIDAYS) TO INCLUDE JETTING AND COMPLETE PUMPING OF ANY ONE OF THE ABOVE BASINS	10 HOURS	10	\$ 225.00	\$ 2,250.00	\$ 310.00	\$ 3,100.00
4	CHARGE PER EMERGENCY CALLOUT INCLUDING TRAVEL CHARGE	10 CALLOUTS	10	\$ 150.00	\$ 1,500.00	\$ 200.00	\$ 2,000.00
	TOTAL SECTION						\$ 27,900.00

		SE	CTION 6				
NO.	ITEM	FREQUENCY	QTY	PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE
1	NOM-EMERGENCY CALLOUT IMPORTA - FIDAY NORMAL BUSINESS HOURS (#00AM -4:30PM): NICLUBING VACULET TRUCK AND OPERATOR TO INCLUDE JETTING AND COMPLETE PUMPING OF ANY ONE OF THE AREAS NOT LISTING ABOVE	40 HOURS	40	\$ 225.00	\$ 9,000.00	\$ 285.00	\$ 11,400.0
			TC	TAL SECTION 6	\$ 9,000.00		\$ 11,400.0

	MISCELLANEOUS WORK (IF NEEDED DURING NORMAL HOURS 6:00AM-4:30PM)									
NO.	DESCRIPTION	FREQUENCY	QTY		PRICE	EXTENDED PRICE		PRICE	EXT	ENDED PRICE
1	JET 100' LINE	Ten (10) times per year	10	\$	500.00	\$ 5,000.00	\$	1,000.00	\$	10,000.00
2	PUMP 100 GALLONS	Ten (10) times per year	10	\$	250.00	\$ 2,500.00	\$	1,000.00	\$	10,000.00
·		TOTAL	MISCELL	ANE	OUS WORK	\$ 7,500.00	[\$	20,000.00

TOTAL BID PRICING								
TOTAL SECTION 1	\$ 63,060.00 \$	59,430.00						
TOTAL SECTION 2	\$ 7,325.00 \$	5,270.00						
TOTAL SECTION 3	\$ 17,550.00 \$	10,974.00						
TOTAL SECTION 4	\$ 3,125.00 \$	3,125.00						
TOTAL SECTION 5	\$ 16,500.00 \$	27,900.00						
TOTAL SECTION 6	\$ 9,000.00 \$	11,400.00						
TOTAL MISCELLANEOUS WORK	\$ 7,500.00 \$	20,000.00						
GRAND TOTAL	\$ 124.060.00 \$	138,099.00						

NOTES
1. A&P correct Total for Section 2 is \$7,325.00.

Bid Opening 3/12/2021	NE, VC
Invitations Sent	11
Total Vendors Requesting Documents	0
Total Rid Responses	2